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Math M119 Section 22611 Ezam 2 March 25, 2010

Follow the instructions for each question and show enough of your work so that I can follow
your thought process. If I can’t read your work or answer, you will receive little or no credit!
There are 11 problems all them worth 5 points each, except for problem 9 which is worth 10
points for a total of 60 points. There are also a bonus problem at the end worth 3 points.



For problems 1-6 find the derivative of the following functions with respect to the indi-
cated independent variable.
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2. f(t) = (t* +2)(6t ~ 7)
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6. P(t) =1In(3) 3"+ 3
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7. Suppose that Eric the encloser wants to enclose a rectangular region that has area equal

to 1500 square feet. How much fencing does he need to buy in order to minimize the cost of
the fencing?

[y oo
hexy =1502 = 7= 7O
X
f= 2)(1'2)’
Seoo 4 - 3ﬂ?—f—?~
% thea fP=1x + ~  ° (=2 x*
wd (o = 2x = 30e° = x=x[jww = Xiodis (At o b

a2 ~
d X = :’O\)T; ~ 23.73 &J k= =2 = taJiv .y s f:—','lOUES’*‘.Z‘)(‘r
? {oﬁ}

= Yo == |CY. 9=

|

n.a,u}s [€9.92 Ff of fe-ra"‘j

8. At a price of $25 per ticket, the Purdue athletics department can fill every seat in Mackey
Arena, which has a capacity of 14,123. For every additional dollar charged, the number of
people buying tickets decreases by 75. What ticket price maximizes revenue?
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9. Given that f(z) = z* + 4z, sketch the curve, i.e. find all critical points, critical values,
inflection points, on which intervals f is increasing and/or decreasing, on which intervals f
is concave up and/or down, and all local extrema and draw it.
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10. Given that f(z) = In(z)

, find the exact global maximum and/or minimum of f on
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11. Dirac’s delicious sushi restaurant has cost and revenue functions, C{q) = 5¢° + '-?-(85—0 - 908

and R(q) = In{q) + 5¢> respectively. At what quantity sold is the maximum profit achieved?

7
T3y = R ~¢tg) = lafg) + 55 -(53° b ged) =l 7 g8

€o T (3) = % ';;o J Tzo D g 723 >

/ *’)_" = = . ";_Il
b TYY) - “;-z A T8N = <0 D =rF0 mewimized profit



645 ln(400) - 61n(4:67:—e,6) + 63 dy

12. (BONUS) Suppose that y = f(z) = . Find —=
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